Multiplication Grids

Multiplying 2-Digit Numbers by 1-Digit Numbers Using the Grid Method

Can you use the grid method to multiply a 2-digit number by a 1-digit number? The first one has
been done for you.

1. 13 x9-=
% 10 3

q Q0 27

2. 71 x5 =

3. 56 x5 =

X 50 b

4. 23 x 3 =

5. 89 x 9 =

X 80 q
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Multiplication Grids

Multiplying 2-Digit Numbers by 1-Digit Numbers Using the Grid Method

Can you use the grid method to multiply a 2-digit number by a 1-digit number? The first one has
been done for you.

6. 63 x7-=

X 60 3

7. 75%x9=

8 13 x5-=

9. 28x9 =

10. 53 x8 =

X 50 3
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Multiplication Grids

Multiplying 2-Digit Numbers by 1-Digit Numbers Using the Grid Method

Can you use the grid method to multiply a 2-digit number by a 1-digit number? The first one has

been done for you.
Calculate the answers using the grid method.

1. 39 x 4 = 21. 77 x 5 =
2. 1M1 x 4 = 22. 50 x 5 =
3. 42 x 3 = 23. 62 x 6 =
4. 29 x 6 = 24, 28 x 8 =
5. Q2 x 7 = 25. 39 x 4 =
6. 22 x 4 = 26. 63 x 4 =
7. 47 x 9 = 27. 73 x 6 =
8. 10 x 5 = 28. 8 x 8 =
Q. 56 x 9 = 29. 52 x 6 =
10. QB x 9 = 30. 27 x 7 =
11. 58 x 9 = 31. 64 x 4 =
12. 72 x 4 = 32. 8 x 3 =
13. 81 x 7 = 33. 70 x 4 =
14. 11 x 9 = 34. % x 8 =
15. 30 x 3 = 35. 77 x 8 =
16. Q% x 7 = 36. 19 x 6 =
17. 16 x 6 = 37. 28 x 3 =
18. 79 x 8 = 38. 57 x 5 =
19. 74 x 3 = 39. 39 x 6 =
20. 24 x 7 = 40. 44 x 6 =
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Multiplication Grids

Multiplying 2-Digit Numbers by 1-Digit Numbers Using the Grid Method

Can you use the grid method to multiply a 2-digit number by a 1-digit number? The first one has
been done for you.

Answers

Page 1 Page 2

1. 13 x 9 = 117 6. 63 x 7 = 441
2. 71 x 5 = 355 7. 75 x 9 = 675
3. 5 x 5 = 280 8 13 x 5 = 65
4 23 x 3 = 69 9. 28 x 9 = 252
5. 8 x 9 = 801 0. 53 x 8 = 424
Page 3

T 39 x 4 = 15 21, 77 x 5 = 385
2. 1 x 4 = 44 22, 50 x 5 = 250
3. 42 x 3 =126 23, 62 x 6 = 372
4. 29 x 6 = 174 24 28 x 8 = 224
5 2 x 7 = 644 25, 39 x 4 = 156
6. 22 x 4 = 88 26. 63 x 4 = 252
7. 47 x 9 = 423 27. 73 x 6 = 438
8 10 x 5 =30 28, 85 x 8 = 680
4. 56 x 9 = 504 29, 52 x 6 = 312
0. B x 9 = 837 30, 27 x 7 = 189
. 53 x 9 = 477 31, 64 x 4 = 256
1272 x 4 = 288 32 8 x 3 = 255
13. 81 x 7 = 567 33 70 x 4 = 280
a1 x 9 = 99 34, 9 x 8 = 768
1530 x 3 = 90 35. 77 x 8 = 616
T6. 94 x 7 = 658 3. 19 x 6 = 114
7. 16 x 6 = 96 37 28 x 3 = 84
18 79 x 8 = 632 38 57 x 5 = 285
9. 74 x 3 = 222 39, 39 x 6 = 234
2. 24 x 7 = 168 40. 44 x 6 = 204
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